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(1) =2l(inference)
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(2) S84 (effectiveness)
- (I—I__I) 01-1-—" ezjl' ET %l%_t-x Eét()l

S 2t & M, Var(8,)< Var(8,) 0| 9,0| ,2Ct O &8X0|2t &
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(3) & Xl A (consistency)

- (Hal) Z230(0 R8&tol SIIg M F=H(9)0l 22(0)0l 2= S4S x40/t &

- 92 2XJ 9 TN 2 B2 AHMEUH =, 0,5 00/H, 9,2 02 UK
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A
o

o O
ZF(point estimation) : HYZPCZ 28 FHOl= A T= HEHE2 FEE 0125101 201 CHE

FA2tFA(interval estimation) : &8t R2HAIZIR2H0 2o 248 FHG=E 2. EFFE2 HAU B2
PXE b5l 20 MEOZ AlZ|er = QoL A2AFE2 0|g dFHEY g2l @I BIYHE| L& E=
HAE H206I0 22 SHEY et 6t 222 AMIHdS I D @48 FHE = AUS
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(1) Case 1
- QAH0| EAZ2EEoIH SEM0] 2 MH US
- QAH0| EAE2XEE oA R 2240 &
> HEEAZLEE 0|8
-X~N(u,6?)
.)_(NN( “_2)
"
2=t _N@© 1)
Vn
- HENASEEEREE p(-1.96 <2< 1.96) = 0.950|22
p(—1.9es’_‘;"s 1 96> ~0.95
Vn
g _ g
p(—1.96ﬁSX—u$ 1.96\/—5) =0.95
5 g _ g
p(X-1 96ﬁSuSX+1.96ﬁ) =0.95
- 287 ulll Cist

—(1—a)x100% &z 72t LBHEOlI HAl 1 X +

95% MZIP22 [X ~1.96=,X +1.96 =]

3

o
T

dMd AL HE=2 JJJ300|4Le=z S=20o| 2 &R

> Tibrary(tigerstats)

> pnorm({1.96,0,1)

[1] 0.9750021

= gnorm(0.975,0,1)

[1] 1.959984

= gnormaC (0. 95,region="between" ,m=0,s5=1,graph=T)
[1] -1.959964 1.959964

Normal Curve, mean= 0,SD= 1
Percent Between = 95 %
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-1.96 1.96
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95% Al 2| P2t za=1.96
2
Bq T 99% MY 2=2.58
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0.360 1.189 0.614 0.788 0.273 2.464 0.517 1.827 0.537 0.374 0.449 0.262
0.448 0.971 0.372 0.898 0.411 0.348 1.925 0.550 0.622 0.610 0.319 0.406
0.413 0.767 0.385 0.674 0.521 0.603 0.533 0.662 1.177 0.307 1.499

X =0.7164286,6 = 0.6,n = 35
- EFENASEI22H p(-1.96 <2< 1.96) = 0.950|22

0.7164286
<=2 . 96) =0.95

(e

i~
p—\

=

0.6
(-1 96 = < 0.7164286 — 1 < 1.96ﬁ) =0.95

0.7164286 — 1. 96\/__ <u<0.7165286 + 1.96 0.95

) =

o

[0.7164286 — 1. 96\/_ 0.7164286 + 1. 96—]

- 282 ulil tist 95% &l 2722t 5
- 25

puOll CHEk 95% 412|222 [0.517648,0.915209]
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(2) Case 2
E 20 =

- QAT HAE

> 202 22
,7),n =30

X~N(u,;
= XE N0, 1)
- EZENPEIE29E p(-1.96 <2< 1.96) = 0.950| 22
p<—1.96 <X 1.96) ~0.95
vn
. -
p(—1.96—nSX—u51.96ﬁ) 0.95
_ S 5 S
p —196ﬁsusx+1.9eﬁ)_o.95
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(3) Case 3
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- t_EEEE'ﬂ:’—E'I p(—tolozs’n_l S t S t0.025,n—1) - 0950|E§

P( o.025n-1 = _t0.025,n—1> =0.95

P( 0.025n— 1\/—SX U < to025n- 1\/—) 0.95
_ s _ .
P X - t()_025,n_1\/_ﬁ < 24 <X+ t0.025,n—1 \/_ﬁ) = 0.95
S
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- (A& 2) 8t HAF MIQIE XIHHCIS LA HHEAI2H0| @cll Z2elli= AHIXIES 22 E0loll D] fol I
A HEFE S L2 20012 HAFDIH HEAIZHES - )2 SHOIGHU OS 2ULCH 2EHO| RS
HTE S0 JIAGHD DEZ BHE AIZ2H0l CHEE 95% Al 22t2 26t
> t-EXE 0|2
14 10 9 10 11 16 15 8 6 18
17 4 12 15 14 15 9 8 7 16
- X =11.7,5 = 4.040584,n = 20
- t_EEEE'ﬂzj-E'I t0_025,19 == 20930|E§,
p( 2.093 <** <2 093) =0.95
p (—2.093 < TR <2 093) =0.95
V20
4.040584 4.040584
p(-2.09320 22 < 11.7 - p < 2.093 222 )=0.95
4.040584 4.040584
p(11.7-2.09372222 < p < 11.7 +2.093 222 )=0.95

4.040584 4.040584
[11.7 - 2.093 722,117 + 2.093 ==

o

- 2837 ulll Cist 95% Al 512t
- QT ulll T8 95% 412 P2t [9.80897,13.59013]
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')(121—1 =T gz 121—1
= 1T 1T n-1)s2
- Xz_Iii‘iEﬂb’—E‘I p (X%_975 S % S X%_ozs) = 0950|E§
2 2
X0.975 1 _ Xoo2s | _
p ((n—l)s2 S o2 — (n—l)sz) =0.95
(n—1)s? 2 (n—1)s?
P 7 <o0o° < — | = 0.95
X0.025 X0.975

05% Al 2|22+ [(n;1)52 (n—1)s2

X0.025

» 2
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73

83

65

80

- §%2 =547.4333, n=10
— XZ

2
X0.995

Xogos_ 1
p ((n—l)s2 = o2 —

2
X0.005
(n—-1)s?

<o'2

<

SEE2LE p(rigos <7

)=0.99

(n 1)s

(10-1)x547.4333

<

((10—1)><547.4333
23.589

1.734

p(208.8607 < 0% < 2839.875) = 0.99
- D24HS% 0l St 99% &2 F2H2 [208.8607,2839.875]

2
X0.005

)=0.99

108

St

) =0.99 €, x8495 = 1.7349, x% o5 = 23.5894



